
Page No. 1 of 2 609752FI Issue A: 09/13     ©Milford Industries 

TOYOTA COROLLA HATCHBACK 
FRONT POSITION KIT INSTALLATION INSTRUCTION 

Part # 609752 
(For use with cargo barrier PN 609750) 

 

www.milford-auto.com  

Parts List 

Item Component Name Part No. Qty 

1 Milbolt - M10 x 1.5 x 14mm 912816 4 

3 Velcro Tie 904003 4 

4 Lateral Support Bracket 753973 1 

5 Flat Washer - 10mm x Ø32mm OD 932006 1 

6 Bottom Front Position Strap - LHS 776814 1 

7 Bottom Front Position Strap - RHS 775815 1 

8 Top Front Position Tube Extension Strap 776817 2 

2 Milbolt - M10 x 1.5 x 19mm 912820 1 

IMPORTANT: The installation kit contains sufficient components to allow cargo barrier part number 609750 to be 
installed behind the 1st row of seats. A high degree of technical competence is necessary to correctly install this 
product. We recommend the components be installed by an authorised outlet to ensure the barrier installation is 
correct. These instructions must be read and clearly understood before commencing installation. Check contents of 
kit before commencing fitment and report any discrepancies or damage. 

E and OE—Errors and Omissions Excepted 

� Socket wrench 
� 17mm AF hex socket 
� 16mm AF spanner 

TOOLS REQUIRED 

7 6 8 

1                                   2 

3 

4 

5 

Installation time approximately 10 Minutes    
 

“The estimated fitting time is based on an experienced fitter  
conversant with the fitment procedure“  



Page No. 2 of 2 609752FI Issue A: 09/13     ©Milford Industries 

TOYOTA COROLLA HATCHBACK 
FRONT POSITION KIT INSTALLATION INSTRUCTION 

Part # 609752 
(For use with cargo barrier PN 609750) 

 

www.milford-auto.com  

FRONT POSITION BOTTOM STRAPS INSTALLATION 

1. Undo the M10 nyloc nuts on the bottom 
saddle screws.  

2. Remove the M10 screws from the 
saddles. 

3. Remove the rear position straps. 

4. Position the correct front position 
bottom straps in between the bottom 
saddles as shown. 

5. Replace the screw in the saddle. 
6. Place the correct rear position bottom 

strap on top of the saddle as shown. 
7. Replace the nyloc nuts. 
8. Tighten the nuts until the straps are firm 

in the saddles but can still be rotated 
easily. 

9. If not using immediately, tie the bottom 
front position straps to the cargo barrier 
using the Velcro ties (2) x2. 

10. If not using immediately tie the front 
position top tube extension straps to the 
cargo barrier mesh using Velcro ties (2). 

11. Store all other kit items in the vehicle as 
required by the customer. 

(6) LHS 
(7) RHS 

Existing rear 
position strap 

Existing nut & 
screw 

LHS Shown 

8 2 

2 


